
The Explosion
The day of 6.XII.2003 in Megabyteland began calm and quietly as any other day. Some people
went to work, some - to school, some - to store to buy food. Drivers were traditionally stucked in
traffic jams, drinking coffee and reading morning newspaper. Suddenly the regularity of this day
was disturbed by huge explosion."They blew up the embassy of Bajtocja!!!" - somebody cried.
Everybody began to run away in panic.

Police works pretty good in Megabyteland and first radiocars appeared near the embassy only
few seconds after the explosion. All the people near the embassy were detained. Some of these
people are the organizers of the explosion, but the others could by just occasional witnesses.
During the testification each person named exactly one perpetrator. It is known, that if a man is
not a perpetrator, than he always says the truth (he haven't a reason to lie, have he?). However,
perpetrators want to make the work of the police more difficult, so a perpetrator can name any
person during the testification (even himself).

The policemen are in the very hard situation. They should arrest some group of potential
perpetrators, but it is difficult to determine who is guilty and who is not from the data they have.
There exists many groups of potential perpetrators, that don't contradict to any of the testimonies.
The policemen want to arrest as small innocent people as possible. So they would like to choose
the group with minimal number of people.

Write a program that, given the number of detained people and their testimonies, will determine
the number of people in the smallest group of potential perpetrators, that don't contradict to the
testimonies.

Input

The first line of the input contains a single integer T, the number of testcases (1<=T<=10).

First line of each testcase contains integer number N (2 <= N <= 100000), equal to the number of
detained people (the people are numbered from 1 to N). The i-th of the following N lines contain
one integer number Pi (1 <= Pi <= N). Here Pi is the man whom i-th man testified to be guilty.

Output

The output should consist of T lines, containing one integer number for each testcase - the
number of people in the smallest group of potential perpetrators, that don't contradict to the
testimonies.

Example

Input:
1
3
2
3
1

Output:
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